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Philosophy

Paper 1II

HEMIE)
gyutrent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. @d U Wi

A : A TRAUGERG THU WX (100) SgTaEl U ol oed. Todsh WA g (2)

Given below are two statements
labelled Assertion (A) and Reason
(R). Examine both with respect to
the Yoga system and select the
correct code :

Assertion (A) :

Pratyahara is the control of the
senses and consists in withdrawing
senses from internal objects.

Reason (R) :

Our senses must be checked and
directed towards inner goal.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A)

(C) (A) 1s true and (R) is false
(D) (A) is false and (R) is true

e SFIAYROT (A) 0T &R0 (R) =i
g foum foeft sRd. == dreeiAre
HeWid Tev wEA Agw Hhdlh
ferer .

AU (A)

JTeR WS Sfgare fomH, YR

ST = STaReh fosRITaRE Te
%l .

T (R)

I sfgaer fE=T ot uifest smfor

AT SATAR 3(Eeeihe YT

it

‘H%EH'I‘T:F :

(A) (A) =707 (R) SI=ET ¥ 317 (R)
T (A) 9 I79 TR SR

(B) (A) 31for (R) S&18 ¥ 1A (R)
T (A) 9 I TR0 TR

(C) (A) I =1for (R) 39T 2%
D) (A) 3™ 3 (R) A 18

[P.T.O.



Which one of the following
statements is true with regard to
theory of causation of Vedanta ?

(A) Vivartavada is compatible with
arambhavada

(B) Vivartavada is incompatible
with satkaryavada

(C) Satkaryavada is incompatible
with parinamavada

(D) Vivartavada is compatible with
satkaryavada

Match List I with List II in the
context of the Jaina theory of
knowledge and mark the correct
code :

List 1
(i) Matijnana
(i1) Avadhi
(i) Manah-paryaya
(iv) Kevala-jiana
List II
(@) omniscience
(b) thought-reading
(c) supernatural cognition
(d) ordinary cognition
Codes :

@ @ @) @)
A) (@ b)) () (@
B) @ @ ®) ()
© © @ O (@
D) ®) (@ @

JUN - 12220/1I—A

A=Al hIERRU IYU<=a1 Feufd
JEicTishl IV faee e o ?

(A) foodar SRYERRT ATEY T8
(B) foerdare GehEiaRRl TIEq e

(C) FchraR 8 IRUMERRT TE9
BIG]

(D) foadae & IehEaRRl TIE9
3T

e 1 emfor g 11 =0 S JEe
IURITAT FeHid Sirewn aran Sl T
Hahaih Taer

e 1

@) wfd=E

(ii) TaH

(i) W99

(iv) Hac™

Tt 10

(@) Gelar

) fo=m= =
(c) 3Sfas™a A
(d) wiferss IH
Hehdieh :

@ @) @) Go)
A) (@ b)) (@ )
B) d) @ ®) (@)
C) © @ b @
D) ®) (@ () )




Match List I with List IT in the
context of the Vedas and mark the
correct code :

List I
(1) Mantra
i1) Brahmana
(iii) Aranyaka
(tv) Upanishad
List II

(@) intensely philosophical and
spiritual

(b) hymns addressed to the Gods
and Goddesses

(¢) collection of rules and
regulations of rituals

(d) transition from ritualistic to
philosophical

Codes :

@ @ @) (o)
A) (@ b)) @© @
B) d) @ b)) (@
C) © @ b))
D) ®) © @ (@

The Manas is that substance which
is independent and is atomic in size.
This view is held by :

(A) Nyaya-Vaisesika
(B) Carvaka
(C) Advaita Vedanta

(D) Mimamsa

JUN - 12220/11—A
g I 37ifor gt I Fr=n Siesn 3 Sguid
ool S0 3Tk Gehdlich el

Tt 1

G W

(i) ST
(i) 3RUIh
(iv) SUFER

et 10

(@) TEAE M0 ALAHIBAT A
e

(b) T9 T A IeRM AT W
(¢) HHwemaH fEmEs T
(d) FHHBEHST TERRS HRAT
Hehdich :
@ @ G Gv)
A) (@ b)) © @
B) @ @ @) (@)
C) © @ b @
D) &) @ () ()

‘T T T A WA O ST uReEmon
AR T Hd TR :

(A) =E-a9ifeRT
(B) =mafshi=

(C) #1gd e
(D) =

[P.T.O.



Examine the following statement
and choose the fallacy immanent
in it :

“Fire is cold because it is a
substance.”

(A) Badhita

(B) Virudha

(C) Satpratipaksha

(D) Savyabhichara

Which one of the following is the
causal potency that propels the man

to perform the actions enjoined by
the Veda ?

(A) Arthavada
(B) Bhavana

(C) Nisedha

(D) Vidhi

Which one of the following is not a
part of the triple path prescribed by
the Buddhism ?

(A) Prajna
(B) Jnana
(C) Sila

(D) Samadhi

6.

JUN - 12220/1I—A

e faum quen enfn ®&ma smeen

eCAlHIH HlEl

“aT TiAA o], RO @l §F ST

(A) e
(B) faes
(C) wegfaaer
(D) FARER

A QYU hell ShreATd ST U0
e HeraEEl YEeisht Hivdl TS
HOMYT S ?

(A) 1daE

(B) e
(C) fHfers
(D) foeft

JEITUeRT VA G TG Shered
et wmi=n 9 A ?

(A) 9=

(B) 3™

(C) fte

(D) THER




10.

Which one of the

combinations of theory of error and

following

its advocator is wrongly matched ?

(A) Satkhyati — Ramanuja

(B) Anirvachaniya Khyati —
Shankara

(C) Anyathakhyati — Prabhakara

(D) Asatkhyati — Madhyamika
Buddhism

Consider the following statements as
per the theory of Satkaryavada
upheld by Samkhya and mark the

correct code :

(z) The full-grown oak tree is

contained in its seed.

(i1) The curd is contained in the

milk in an un-manifest form.

(zii) The paper is a new production,
something that is not contained

in the pulp-wood.
Codes :
(A) Only (@) is true
(B) Only (i) and (ii) are true
(C) Only (ii7) is true

(D) Only (i) and (iti) are true

10.

JUN - 12220/T11—A
I Sired Ye ol ofea. @mieh]
IV Tk SIS Fehrel 38 ?

(A) He&A — THIS

(B) AfTe= T &t — 9T
(C) AU — FHTHT
(D) AT — WA g

HEAT=A HehrEaRrea de4id qara
faerma qurar wfor gs® Hehdiw
ferer -

() YUl dreddr Mw g& ATl
SIS FHTeTeT Bl

(i) <@l UL K] WU HHTE

3R,
(iii) e & =it TafHdt e, @ srer=n

eI HTHEAAT T8l

03 K3
-
.

(A) I (i) 9 T 8
(B) Wed (1) 37T (7)) 9 HcH 3Ted
(C) W (i) 9 T 2Te

(D) Wed (i) 3T (jii) = T 3Ted

[P.T.O.



11.

12.

Sartre’s notion of freedom negotiates

between :

(A) facticity and responsibility

(B) facticity and nihilism

(C) facticity and indeterminism

(D) facticity and immanence

Anaximander’s fundamental stuff

1St }

(1) Formless

(2) Partless

(3) Infinite

(4) Eternal

Codes :

(A) (1) and (2)

(B) (1), (2) and (3)

(C) (2), (3) and (4)

D) (@), (2), (3) and (4)

11.

12.

JUN - 12220/1I—A

qrFE TG AT qErad T

HIMHE I Hd ?
(A) wftferdt o ST
(B) uRfedt & g

(C) URferdt = SAHfF=aa

(D) uRfeerdt a sfayaa

(A) (1) s7for (2)
(B) (1), (2) @i (3)
(C) (2), (3) =TT (4)

D) (D), (2), (3) 70T (4)




13.

14.

Given below are two statements
labelled as Assertion (A) and Reason

(R) and select the correct code :
Assertion (A) :

The Sophists denied the possibility

of scientific knowledge.
Reason (R) :

The Sophists had maintained that
knowledge is perception and

perception is relative and transitory.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) s the

explanation of (A)

not correct

()
(D)

(A) is true but (R) is false
(A) is false but (R) is true

In his ‘Republic’ Plato introduces the

tripartition of the soul to address :
(A) Individual conflict

(B) Political conflict

(C) Educational conflict

(D) Psychological conflict

13.

14.

JUN - 12220/11—A
e SFAYNOT (A) A0 RO (R)
3 faum feeft smRa onfon e Hehdie
ferer :

AU (A)

QIR ST AMT IRl AR,
%RUT (R)

A= 70 YIeTE T B ST
T § g oo uRedeia ST

i
(A) (A) 371 (R) Treiel | 3TTed ST
(R) § (A) = Faref Tqeientul o118

(B) (A) 371 (R) Tr=ral 9 3ATgd Ul
(R) ® (A) = g Tqsieheul el

(C) (A) 9 1 (R) 19 3Ted
(D) (A) 3™ 30 (R) TF 2Ted

e AT | gsciieh ' TAmHed STe=IT=i

[P.T.O.



15.

16.

17.

18.

Aristotle upholds that the formal,
efficient and final causes are :

(A) neither identical nor different
(B) both identical and different
(C) identical

(D) different

According to Kant, the idea of God

and immortality are :
(A) Innate ideas

(B) Objects of intuition
(C) Ideas of reason

(D) Ideas of imagination

Which of the following books is not
authored by Rene Descartes ?

(A) Discourse on Method
(B) Meditation on First Philosophy
(C) Principles of Philosophy

(D) An Essay Concerning Human

Understanding

Which of the following philosophers
infers the self-existence based upon
thinking ?

(A) Immanuel Kant
(B) John Locke

(C) Jean-Paul Sartre
(D) Rene Descartes

15.

16.

17.

18.

JUN - 12220/1I—A

SEeT=A1 HAHR SATehien, THiH= sfor
B —— —

(A) FAME AR et f=El AR
(B) w\M snfor = S

(C) &AM

(D) fw=

AT AU T5R Hedqal M0 S T
.......................... -

(A) STAfes Hed

(B) Ad:U== fao=

(C) et wHeal

(D) et hegHl

ETTeTdeh ShIUTAT T 3 Tah1e fafgere

T ?

(A) S 31 Aue

(B) AfeeyM 31 w& frarars!
(C) Tu=fiuey &ifw fRardrst

(D) 39 TH HA AT TS

@A e foaR wtvaer eneia
3T 3T STTHN T eTdeh! IVl s

el ?
(A) THITA HIE

(B) S @k
(C) Sif-dfer &l
(D) [ SHE

10
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19. Who advocates that clarity and | 19. ¥edr a7ft7 faferran & SN T[UEH STed
distinctness are the qualities of 3 U G ?
?
knowledge ? (A) &
A) Plat o
(A) Plato (B) offtefea
B) Aristotl
(B) Aristotle (©) T IHE
(C) Rene Descartes
(D) S=éte &gH
(D) David Hume
20. 9 RUN IR Heudl 9, 39 Hi0
20. Who said, ‘mind is the idea of body’ ? = 2
(A) John Locke (A) ST
(B) Spinoza (B) Fererem
(C) Rene Descartes ©) T FF
D) Plat
(D) Plato (D) =
21. Who is the author of ‘Letters .
, , 21. ‘TR HEA AW T T AT
Concerning Toleration’ ?
HIO G ?
(A) John Locke L
(A) SIA <l
(B) Hobbes .
(B) ®Isd
(C) David Hume
(C) S=ée &gH
(D) Leibniz
_ _ (D) e
22. “Tattvamasi”, according to Madhva,
means - 22. HEMEMEE Hd, dwEd’ WIS
(A) Tasya tvam asi (A) T & 31
(B) Tasmin tvam asi (B) R =M A9
(C) Tena tvam asi (C) o7 =M |
(D) Tasmat tvam asi (D) TG ©H AH
11 [P.T.O.



23.

24.

Match the pairs :
Group 1

(@ Asrava

(b) Samvara

(¢) Vrata

(d) Law of Karma
Group II

(1) Arrest of flux of karma and

matter into soul

(i) Moral justification of suffering

(i11) Karma entering into soul

(fv) A means to samvara

Codes :

(@) (b)

(A) @) Gv)

(B) @) Gv)

(C) vy @ G @)

D) @) @)  Gv) @)

Which of the following is a feature

) (@)
@ @G
@) @

of Sthitaprajna mentioned in

Bhagvad Gita ?

(A) Sam Dukhe Same Krutva
(B) Tat tvam asi

(C) Aham Brahmasmi

(D) Dharayati iti Dharmah

23.

24.

JUN - 12220/I1—A

Siret S[esdl

e I
(@) 39
() TR
(c) &d
(d) wHfEE

e II

() wH e e fIomn e
BIEIEN

(i) T HAfqe wwedd

(iii) AT TS ReRE

(iv) GaTETEA

'H@?I’I%F M
(@) (b)

(A) @) Gv)

(B) @ii) Gv)

(C) vy @) Gi) @)

D) G @ Gv) @)

Tl &I F@uATa LT

TETTaHES Wiffqere e ?

(A) HAg:E HH el

(B) aq @& =4

(C) o1 st

(D) wrafa sfa & :

() ()
@ @G
@ @

12



25.

26.

27.

Select the correct alternative
which postulates for the moral

intelligibility of the universe :
(A) Karma and Dharma

(B) Law of Karma and Rebirth
(C) Astanga-marga

(D) Astangika-marga

Dharma does not mean :

(A) Attributes

(B) Constituents of reality

(C) Detachment

(D) Duties, Virtue, Merit

the

According to Samkhyas,

Dharma signifies a specific function

of the :

(A) Mind
(B) Ego

(C) Intellect

(D) Mahat

25.

26.

JUN - 12220/I1—A

CIIREEANCIL G RIS U I I RED

AR TEldh Tl ?
(A) =wH 9 oH
(B) wHfHRHEM & A
(C) Tl

(D) TSfTeRATT

(B) aTEdaEEH
(C) R

(D) hded, |JU, U

27. WEATA WA, ¥H HIME FA e ?

(A) 719
(B) 3TE&R
(C) st

(D) #Hed

13

[P.T.O.



28.

29.

30.

Tilak insists that Sthitaprajna
should :

(A)
(B)
(&)
(D)

Renounce the world
Work in the world
Work in renunciation

Work the
attachment to the fruits of

actions

renouncing

While interpreting Bhagavad-gita,
the concept of ‘Niskama-karma’ is

underlined by :

(A) Tilak

(B) Madhva

(C) Madhva and Tilak

(D) Neither Madhva nor Tilak
Which of the following does not fit

with Moore’s defence of common

sense ?

(A) ‘In this universe there are many

material objects.’

(B) ‘Men  perform acts of
consciousness.’
(C) We know the objects and acts

of consciousness.

There are evidences for our

(D)

belief regarding external world.

28.

29.

30.

JUN - 12220/1I—A

feorqus /@ el Wfest, e/ feesshmen
IV WE AR ?

(A) S Hrew Wfest
(B) A WgA & ol wifest

(C) I wHd Ufedd difes

(D) FHHEATRT Hed HEa Ufea
rfest

e ST aear  Fehm w4’
B Gehod Hivh STERfEd et ?

(A) fezzh

(B) H&
(C) \em 9 feom
(D) Hed g 1 feowgl T

TR HIeT AT HHAN YErerdeh!
FIv foum Seed @ ?

(A) ‘=1 fasard emw Oifdaw 9%
afTed.

(B) e SUiferged el ShLdld.
(C) STl K] o SOferged Fhel=
MR

(D) AT ATEISITTo==AT SIS

T SR

14
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31. Cross the odd one out keeping in | 31. S ifqeme deuid, T THUMRI 9Ii™
mind Jaina Ethics : IEEEER
(A) JIV&, AJTV&, Asrava (A) Wi\lol, d‘l\‘ﬂq, 3Ed
(B) Asrava, Bandha, Sarvara (B) oT&d, &Y, HaR
(C) Samvara, Nirjara, Moksa (C) v, frolr, e
(D) Kamma, Kusala Kamma,
(D) ™, fHA-hH, A[HA-HH
Akusala Kamma
32. Taued fee@uama guiq &IamET o
32. “Sthitaprajna” is described in the .
~ T HIOTyETe SfEafius wial, 38 Wed
Gita as one who controls the senses
e ?
like a :
(A) '
(A) Lion
(B) = Ed
(B) Tortoise
(C) w|d
(C) Snake
(D) Crow D)
5 o fa) AT ~ 7
33. Hedonistic calculus is proposed by : 33. FEAR! FeM F HEA AL
(A) J.S. Mill (4) S.uE. fa
(B) Bentham (B) =
(C) Sidgwick (C) ot
(D) Kant (D) we
15 [P.T.O.



34.

35.

“Ethical sentences are primarily
emotion expressions of one’s own
attitudes and are intended to
influence the actions of the listeners”
— can be attributed to which one

of the following philosophers ?
(A) Bentham

(B) Sidgwick

(C) AJ. Ayer

(D) Kant

Which one of the following theories
of punishment views crime in terms
of its contributing conditions and
argues for the changing these
conditions that punishing the

offender ?

(A) Deterrent theory
(B) Retributive theory
(C) Preventive theory

(D) Reformative theory

34.

35.

JUN - 12220/1I—A

“Sfqer faem Tord = 7 gdie e

Afead] o d 99= @ Ushum=ar=a

il Gofeard SHL0AT=AT IR heldd
sTa@.” T faum wefiadst wioen
TRl Haftd e ?

(A) wed

(B) fosditeh

(C) TS TW

(D) =ie

wretads feral=t wiordt Suush
qfeefidion. e sl erad anfon
foren uatlest TRIREET afkfeerdt

ISATER W T ?

(A) UfqeiemeHss 3T

(B) wfaeme 3uuit

(C) JHEHS ST

(D) GURUMcHE I

16
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36. Which of the following best | 36. T& HIfaemea 39U TUH wHicdl
summarizes Kant’s possible criticism TEnaEEa T THIET Eeieideh!
of Egoism as a theory of Ethics ? AT G GRS HiSa! 3T 2
(A) Ethical egoism is logically self- (A) A T@nedare = ded: STfaETd
contradictory AR

(B) Egoism involves conflict of will (B) wndac Serees Sfadd ol

(C) Egoism involves wrong view of (C) TEndaE HHat WYTafaseh Feh =l
human nature gfteentor el

(D) One cannot will the egoistic (D) el famaa getas @, ST
maxim to be a universalized g=31 TEdl I A8l

37. Match the pairs : 37. Siedl ool :

Group 1 RICA |
(@) Good (@) =IA
(b) Right (b) a4
(¢) Duty () s
(d) Virtue (d) |

Group II e 11
(i) Simple, unanalyzable () TRaFEr, Afasweitg
(i) Obligatoriness (z1) qAM
(iit) Nobility (¢17) 3Tl
(fv) Appropriateness (v) sfifae
Codes : Hehdiah :

(@ B) () () (@ B) () ()
(A) @) @) Gv) @) (A) @) G Gv) @)
B) @) @) @) Gv) (B) Gi) @) @) Gv)
(C) @) Gv) @ @) (C) @) Gv) @ @)
D) & Gv) @) G0 D) @) Gv) @) @)
17 [P.T.O.



38.

39.

Match the pairs :
Group I
(@) Golden rule
®)
(c)

(d)

Golden mean
Categorical imperative
Hypothetical imperative
Group II
(1) Conditional
(z1) Reciprocity
(i11) Avoiding extremes
(tv) Unconditional
Codes :
(@)
(A) @)
(B) @)
(C) @)
(D) (@)

(b)

(iv)
(iv)
€279)

@)

(c)
@) ()
@) (D)
@) @)
() (@)

(d)

The primacy of character over action

is asserted in :

(A) Traditional ethics
(B) Meta-ethics

(C) Ethics of care

(D) Virtue-ethics

38.

39.

JUN - 12220/TI—A
el e
e 1
(@ W f7eH
(b) € A
(¢) Fgameas sTmedeh
(d) TR TR
Te 11
() wfdeEcS
(i) TTERHEI
(iif) ORIRTSSN 2Tes0!
GOREEIRERIED
Hehdich :
(@)
A) @)
(B) @)

b)
(iv)
(tv)

(c)
(i) (@)

() (D)

(C) @) @) Gv) @)

D) @) G Gv) (@)

ToRae AT WAl vl gfadied
Fd ?

(A) IR ifaemes

(B) stfertfasme

(C) Tra ifaemes

(D) U HAfaemes

(d)

18
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40. Which among the following is a true | 40. Tanefdare a1 Afqs SUURIeTEd WeTdH]
statement with regard to Egoism as FY fauT T R ?
an ethical theory ?

. ) (A) EAGED Torefare  ATAEINET

(A) Ethical egoism presupposes
psychological egoism TSR e .

(B) Ethical egoism does not (B) Afasw warefare  AHEITEH
presuppose psychological wdaRTen TEld 9Rd el
egoism . -

(C) HHERIEY Weare g ATy

(C) Psychological egoism is identical

yenoesn o8 . pikcic LS
with psychological hedonism

(D) Psychological egoism and (D) WITHRIRAE TS & HATE
psychological hedonism are two FUAR T T WERGRSH YA
contradictory positions BId.

41. Which of the following statements | 4 Afqememen Fd-TEaR AR EmEEd
is not true of Act-deontological theory ety F e 9o A 2
of Ethics ? ’
(A) Particular judgements are basic () faferse for wrEed - o .l =

and any general rules are to be HIUAET wET fEE T
derived from them, not the FeRftia ol S, faegy O
other way around. T,

(B) It presents a method (B) Fr A e A geT i
determining what is right by .
becoming clear about facts in A RARUER 4 TR
the case and then forming a AT Hefifersredt Starerror e
judgement about action. q{%il?ﬁ <.

(C) We cannot form a thumb of rule (C) gegel ferudar faam = &l
judgement without taking stock e e S A T
of concrete situation.

(D) Act-deontology is a position that (D) FUI-THEGT
implicitly assumes hedonism. gEEaR T .

19 [P.T.O.



42. Happiness 1is construed by

43.

44.

Hedonistic egoism as :

(A)

(B)

()

(D)

For
(A)
(B)
(&)

(D)

Maximisation of pleasure and

minimization of pain
Bliss

Maximization of one’s own

pleasure

Maximization of pleasure of

maximum number of people
Vivekananda, Religion is :
Being and Becoming
Hearing

Acknowledging

Listening

Samkara’s Mayavada is criticized

on seven grounds by :

(A)
(B)
()

(D)

Ramanuja
Vallabha
Madhva

Nimbarka

42.

43.

44.

JUN - 12220/1I—A

RG] eETR GeTal Fehea T

{dld

(A) gErEt fshaadr 9 g @l ardest
HHT HI

(B) THME

(C) e @d:= el Sfehawdn
(D) Afeehad S e st
foesMg= wd, ¥ WU

(A) O & =

(B) ToI

(C) Wil Ul

(D) @&ges THRUl

YR AIEEEeR Td STEY SR

HIO ?
(A) TEIgS
(B) dcay
(C) 7=

O)REEIE]
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45. Saccidananda isthe ......cccocoeoueennee.. 45. Gfegere T 9@
of Brahman. (A) T
(A) Description
(B) wq@ afirsew
(B) Main feature .
(C) TIIcHs: duMH
(C) Negative characterization
(D) 9RYd &Y
(D) Essential nature .
46. ITHIFEAT HIT@ (TATF)  FIHAT
46. Which of the following is not & 2
maintained by Sarmkara ?
(A) wifquriaes
(A) Pratibhasika
(B) 3Tehifaeh
(B) Anekantika
(C) =AERIR
(C) Vyavaharika
_ 1 (D) URHT®
(D) Paramarthika
47. According to Ramanuja , the world- 47. TR A, S
CIECIED 7
process is the outcome of : e
(A) Pancharana (A) TR
(B) Trivrtkarana (B) gt
(C) Aprthaksiddhi (C) sTqereRfage
(D) Brahman (D) o=
21 [P.T.O.



48.

49.

50.

Who among the following thinkers

speaks of possibility of the

consciousness of the denial of T’ ?
(A) K.C. Bhattacharyya

(B) Vivekananda

(C) Sri Aurobindo

(D) Radhakrishnan

Which of the following is not true
of Igbal’s conception of God ?

(A) God is immanent

(B) God is transcendent

and

(C) Constantly creative

dynamic
(D) God is irrelational

In Sri Aurobindo’s philosophy “that
state of common self-existence in
which the knower and the known are
one through knowledge” refers to

which of the following ?

(A) Reason

(B) Intuition

(C) Intentionality of consciousness

(D) Supraintentional consciousness

48.

49.

50.

JUN - 12220/1I—A

@AY Il dwas SATCHTNTcHS
Sforere YR "iedl 2

(A) HH. e
(B) fagehrg
(C) it eRfag

(D) THHH

AN ~ I
ETATAYh[ R0l (TIA)  FHATAAN

SR eqaTed B e 2
(A) T¥R Al TR
(B) $¥eR Sfsamdia a1

(C) Tad gemeiel 9 aferd o1

(D) $YaR IeRfed 3R

ot TfeeT=aN eI e 9 3 I

Teh&qdl M GIeed] SO ek

Wt sTeEdEr’ dey IS o ?
(A) gt
(B) 3Id:9=m

(C) Sfurer=it Hagehdl

(D) HEgeha St

22



51.

52.

53.

“This human body is the greatest
body in the universe, and a human

being the greatest being” is said by :
(A) Radhakrishnan

(B) Sri Aurobindo

(C) Tagore

(D) Swami Vivekananda

In ‘Republic’ of Plato which of the
following is not a reason why

philosophers should rule a city ?
(A)
(B)
(C)

They hate poetry
They hate falsehood

They love what is rather than

what becomes

(D)

They are quick learners

In Moore’s critique of Hegelian
Idealism, the main tenet under

attack is :

(A) “All relations are internal to

their terms.”

(B) “All relations are external to

their terms.”

(&)

“Relations are both internal and

external.”

“There is no distinction between

(D)

internal and external relations.”

51.

52.

53.
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421 AIE] <8 S Seid 58 <8 o
9 HoE gefq weE Sfa” ® fawm
HOE ?

(A) THTFH

(B) =it srfee

(C) 2R

(D) @t faaerTe

‘fifseter ! 723 @eileTdeh! IV ShIT]
e RIR RS E R EE T R R MY
qEr ?

(A) 7 wEl fAERR M

(B) 3l TR &

(C) = YU sEAe 3 3R AR
94

(D) 9 Tehd TIrehan

T AN TergTeren SHierd <2 g
TRIdeRTe. I ST Bdel d

(A) T HaY T AT 9T SR
3HHdId.

(B) e Hey § AT HITSAT 9ed
3HHdId.

(C) HeY Ak o o8d W el
HHdId.

(D) ARk o died oged el Hich
EIRE

23
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54.

55.

56.

Ryle’s phrase ‘the ghost in the

machine’ was designed to

characterize a mythical view, which

he attributed to :

(A) Aristotle

(B) Descartes

(C) Strawson

(D) Wittgenstein

Carnap upholds :

(A) Correspondence theory of truth
(B) Coherence theory of truth
(C) Pragmatic theory of truth

(D) Semantic theory of truth

According to early Wittgenstein a

name denotes :

(A) a mental state
(B) a fact

(C) a physical object

(D) a simple

54.

55.

56.

JUN - 12220/I1—A
“IRIEAE a7 TEeel aeEr
qEictdshl hiomel fRuhens gfteswa
fdfea @ 2

(A) TR=fea
(B) <&RH
(C) VA

(D) oz

FRATA HIMET R hell ?

(A) TAGEIE T U

(B) WATawEed AR ST

(C) AR HAYTHTIIER] STU

(D) TAfao=eh  31ei-3uu

(B) =
(C) “faer =g

(D) ¥
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57.

58.

59.

Russell’s theory of descriptions
makes a distinction between two

forms of a sentences :

(A) Grammatical and Semantical
(B) Grammatical and Logical
(C) Grammatical and Syntactical
(D) Syntactical and Semantical

Kierkegaard’s notion of truth as

subjectivity is related to :

(A) direct communication

(B) rational communication

(C) propositional communication
(D) indirect communication

According to Heidegger, the human

being belongs to Being as :
(A) a guardian

(B) a creator

(C) a master

(D) an author

57.

58.

59.

JUN - 12220/I1—A

@or=t ‘guig Suget’ faumrE <

ThRHE] Tleh hld

(A) AHTNE o iR

(B) SARIONE o dlfeheh

(C) H&HIONT d THAHS

(D) AHE: 9 3AYTcHSR

fehehedl ‘A U SAfaqaTaerd’ &l

HehoUdl HIMM Geiferd 38 ?
(A) T@E TR

(B) sifgesh &g

(C) faumrms Fa

(D) 3TYTE] el

RIS HATJER ekt &1 STt
(A) TEUER 3FHd

(B) fwict sr&d

(C) Hetsh 31Ed

(D) oEF 3T

25
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60.

61.

62.

For Rorty epistemology believes
the mind to work on empirical reality

to :
(A) mirror it
(B) negate it
(C) transcend it
(D) rationalize it

Merleau Ponty does not regard the

lived-body as a :

(A) physical object

(B) zero point

(C) reflexive touch

(D) incarnate reflection

Dewey regards inquiry as a process

of constant revision, since it is :
(A) self-assertive
(B) self-negating
(C) self-conscious

(D) self-corrective

60.

61.

62.

JUN - 12220/1I—A

Y= AAER FEHAMET 3T A i
T S9aS aratat foam

q e

o~

(A) = gfdf

9 SRIIUITES!

(B) ™Il R QOIS

(C) = STl SuIEIe]

(D) T dIfeheh €9 QUGS

el 9= AAMER geig IR R
qEleTeh! 1 ATEr

(A) “fdw o=

(B) ¥ foig

(C) wfEmercHs: sl

(D) <eyd e

TYIAT HEATAT{HR &0 7l
gAfdesaret eyl gfwer o,
HRO d

(A) T-TEYRUMCHE T8
(B) @-foiges 21e
(C) W-Sviiage 3T

(D) @-GURTHSF 2T
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63. Sarvodaya consists of : 63. WaleaTd HyTEl iqute eal 2
(A) Truth, non-violence and self- )
: (A) ¥, Afed 9 HAMER
assertion
(B) Truth, non-violence and self- (B) ¥, AfEd 9 McHTIRR
denial ’
(C) |, AfEH o AR
(C) Truth, non-violence and self-
development (D) ¥, g 9 airg
(D) Truth, non-violence and | o\ ooy enifrdermmame JEicTush! hYTl
possessiveness
IR HId TG ?
64. Secularism in India does not
maintain : N R RSICIECAE T
(A) the de-publicisation of religions ®) £ . ot
(B) the de-politicization of religions
(C) ¥ HHiEA Twod: Al e
(C) a principled distance from
religions (D) @ifHer 3TeRdsht hfcagea
(D) the commitment to religious
65. TTEA §
pluralism
65. The constitution is : (A) e M Teg, TU foRamug o1e
(A) not only a noun, but also a verb (B) THeR T IR fwen fpamme ome
(B) either a noun or a verb
(C) & At 9 feramaedt A
(C) neither a noun nor a verb
(D) only a noun, but not a verb (D) T e, fopeme R
27 [P.T.O.



66. Social democracy is a mode of :

(A) government

(B) individual living

(C) 1institutions

(D) associated living

67.

.......................... in India.
(A) fundamental right
(B) social right
(C) political right
(D) cultural right
68. Sarvodaya does not imply :
(A) the private good
(B) the common good

(C) the dignity of labor

(D) the dignity of work

Free and compulsory education is a

66.

67.

JUN - 12220/1I—A

HTATTSISR  SIhTMEl 81 HIMET Y
e ?

(A) FEHR

(B) ofeies Sfter

(C) Heen

(D) Hearf Sfte

qRa| goa d ifamd foreror 71
(A) eI Tk 378

(B) OIS %ok 318

(C) TSI BFF 3R

(D) Whfd® &Fh T

68. UEcTusht g Harearan Y A& ?

(A) JafFes e
(B) "Mfesh fm
(C) &M=t Hfasar

(D) HHEET fdsr
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69.

70.

71.

What, according to Kautilya, is most
conducive for the stability of the

state ?

(A) Establishing peace

(B) Victory in war

(C) Strict governance

(D) Treasury full of resources

In Kautilya’s policy of governance,
which factor is regarded as the

strong point of the king ?

(A) Advice of the chaplain

(B) Efficient network of spies
(C) Able Ministry

(D) Active administrative officers

According to Locke, State of Nature

is a state where there is :

(A) Freedom from the interference

of others

(B) Perfect and complete liberty to
conduct one’s life as one best

sees fit
(C) A state without morality

(D) No civil power to whom men

can appeal

69.

70.

71.

JUN - 12220/I1—A

Hifeear=a AAER Toar=a1 StEre!

qald STIehd & o ?
(A) W= FEAT

(B) g fasma

(C) =hoR WM&

(D) FHgY @i

wifecaufora gemgar=ar envoraed

qelcTdehl ST H2eh © JSiTe ATl

AMe 3T ?

(A) oHTRE Heell

(B) T<RUE A s

(C) w&H HiHER

(D) foramefie semERE STfber
dfere W, e =S

(A) WA BN SaUAl FHd 2aRIedD

AT

(B) Wd:A g S AFF aed a9
ST 9RQUl F 9Yu @A
(C) faaferfea smem

(D) AFGEHT TE ANTE TR ITEAERIT
0y
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72.

73.

74.

Berlin associated negative liberty

mainly with :

(A) Classical liberal tradition
(B) Communitarianism

(C) Modern liberalism

(D) Communism

Which of the following thinkers
argues for “a state of affairs in which
men are treated as the equal beings
which in fact they already are, but
are not already treated as being” ?

(A) John Locke

(B) Hobbes

(C) John Rawls

(D) Bernard Williams

In Robert Nozick’s view which one
of the following is not among the
three main principles that should be
accounted for in an adequate theory

of Justice ?

(A) A principle of Justice in

acquisition
(B) A principle of Justice in transfer

(C) A principle of Justice in
rectification

(D) A principle of Justice in decision

making

72.

73.

74.

JUN - 12220/1I—A

St TehRIcHS ST TS &AM

oAl o
(A) AU SERATETE! TR
(B) sw=fefatTsa

(C) 3TYfTeh TRATER

(D) "E™=E|

EATeTdeht ShIoTdT foaeid 319 urdl hi

TR SeAHEd Sl TS JrTaA

ST, TR et GHTE THeT a1

A STEHE IFTee S ?

(A) S e

(B) ®Isst

(C) S\ |

(D) e feoeem

Tl AW SN WS e ifeeh

J WiffTqeiedn Y@ @9 qwardeh] hIowd

e ?

(A) HUEAMES = qxd

(B) TH@LOMHEd <9 d<d
(C) uReRomaey <P d<a
(D) fofamesd =ma= T
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75. For Amartya Sen capabilities as | 75 aqaf @9 I 99 W= &9l
freedom refer to :
................................ ﬁ%?ﬂﬁ W

(A) Ability to take informed
decisions (A) 'Iligiilﬁiﬂi T BT &7

(B) To be able to do what one (B) 9 d9 9aNTal IV &IHdT
wishes and desires to )

(C) Irma YA IUASUIdl STl

(C) The presence of valuable
options or alternatives !
effectively available to the agent (D) > TR TEEE @ See

(D) Freedom to sell one’s produce e S fRTden fasa
freely at a desired price

. o . . tezica) ' fe |
76 Argulng for minority rlghts 76. AcUHEHThAT ghldldd laddlg ehdl-

Kymlicka distinguishes between fenfretehi=l <hT0Tl < HEpTeTIeHes

which two types of ethnocultural Yo Hell oM ?

groups ?

_ o _ (A) SIS TSRS TR ATHEATR

(A) National minorities in
multination states and Ethnic F TGHE ek TS HEH{ASRrTe

in Polyethni . S . . ﬁ
groups in Polyethnic states (B) SgHTEhIdeh TSATdlel  SATAASE

(B) International minorities in .. o N

HAeqHEAh 9 dgiltgd STl
polyethnic states and ethnic . )
groups in multination states. o]

(C) National minorities in (C) IgHTHIAATIHR A T
Polyethnic states and Ethnic AUTEHF | TS T
groups in multination states. . .

(D) Ethnic groups in multination
states only (D) Hdes T TN TR TITE
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77.

78.

Michael Sandel’s critique of
liberalism with reference to rational
choice is based on his emphasis

upon :

(A) Voluntarily picked up social

attachments

(B)

Involuntarily picked up social

attachments

(&)

Impossibility of rational choice

altogether

(D)

Impossibility of social dialogue

among equal partners

Who among the following thinkers
argues that nature is given to all
mankind by God for its common
subsistence, one cannot take more

than his own fair share ?
(A) John Locke
(B) Hobbes

(C) John Rawls

(D) Rousseau

77.

78.
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e Heo=a SeRudAHHI ST

forerenifarel=n e ) <dl @ ¢

o ha¥

BEESRIRIEIEE?

(A) T

(B) stf=ssiican fraesaesn gmifses

o N A~ a_n

(C) TIARIMISET TR

(D) UM STERRM TS ot

ST

‘Fogud guEd ArasTdidl fewA

TEUATR AT 8T SRTel shell 3TT%; WeehT=

N A

SHHH K Alcqel]] s

u% T4 o™

gfqae o & ?

(A) A ek

(B) ®sH

(C) 9 Tew

(D) =4
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79. Most of the feminist theories suppose

80.

that the complex of psychological

traits and dispositions that

characterize a person as either
“masculine” or “feminine” — as well
as the relations between genders

are :

(A) Genetically formed
(B) Naturally presented
(C) Socially constructed
(D) Determined by oneself

Which of the feminist theory
emphasizes upon women’s financial
dependence upon men as the main

reason for their subjugation ?
(A) Radical Feminism

(B) Ecofeminism

(C) Liberal Feminism

(D) Socialist Feminism

79. =ufaquxa fAuffta wTomd

80.
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SIEIESED
AT 9 T A e SR
S, g SR STaiyHTT,  gEs’
fohen ‘S’ 318 Sferd Toe fermymaTeRa
ey Feifid w, 9 w9 2

(A) STemTTafsSd
(B) frrfes
(C) FH=RMEd

(D) wafHiRa

TTeedsh!  HIvdl  SAaR]  S9

o= T2 T e SR e
JEUTE STHUR A stacier’ TR, 39
" ?

(A) B SiaR

(B) THERUE AR

(C) 3ERHdETE! Hierg

(D) GHSER] SdE
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81.

82.

83.

Consider the following statements
with reference to valid deductive
argument and choose the incorrect

statement :

(A) All its premises are true and

conclusion is also true.

(B) All its premises are true but its

conclusion is false.

()

All its premises are false and its

conclusion is also false.

(D)

All its premises are false but its

conclusion is true.

According to quantity, propositions

are divided into ...............ccc..... .

(A) Universal and Particular

(B) Universal and Existential

(C) Affirmative and Negative

(D) Necessary and Probable
Example of Law of Excluded Middle

IS i .

(A) A thing cannot be both ‘a circle’

and ‘not a circle’
(B) A circle is a circle

(C) A thing is both a circle and not

a circle

(D) A thing is neither a circle nor

a not-circle

81.

83.
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Y T gfrecere Syl e

fasm dquren enfor gekte faem s o

qm ?

(A) =T 9d STERfae™ ¥ oAt
hel & 9 e¥d W

(B) =i Wd SMYRfay™ T S
o e o 8d W

(C) = Td ARG ST 3T

afifor foomd & 9 A @

(D) = SMURIGY 79 3Tdlel S0

frps I 3 ¥d ™

(C) Bt omfor Jahmaedt
(D) etfard snfor Harem

afstd Aega=a1 FIA=E SeTeu 3R

(A) T ‘T THU’ A ‘A WU’ §
TGl 3T TehA RN

(B) = ¢ Iga 3T

(C) =] B afes T MV T THTRN

(D) o & THM age A9d fawa
F-aqosel THd
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84. If the Truth-value of ‘I’ proposition

85.

86.

is True (T), the truth-values of ‘A’

and ‘E’, ‘O’ are respectively.

(A)

T, F and undetermined

(B) Undetermined, F and F

(C) Undetermined, F and

undetermined

(D)

F, undetermined and T

If the statement ‘p’ is True, the

truth-value of p v ¢’ and ‘~p’ are:

(A) both are true

(B) both are false

(C) p v q’ is true and ‘~p’ is false

(D) p v q’ is false and ‘~p’ is true

Which of the following is the correct

form of Laws of DeMorgan ?

A {p=q =Ilp>9) *(@>pl}

and {[(p ® @) v (~p * ~g)l}

(B) q) = (@ * p)l and

(@ v @ = (g v p)l

[(p e

(C) [(~p ® q) = (~p v ~q)] and

[((~p v q@) = (~p * ~q)]
D) [~(p ® qg) = (~p v ~q)] and

[~p v q@) = (~p * ~q)]

JUN - 12220/I1—A

84. ST faumr Tad-Hed e (T) T8

85.

86.

T A, B enfor ‘O faumm HAdHA
(A) T, F sufor stfafe=d
(B) s1fafy=ra, F anftr F
(C) erffy=ra, F emfor effy=a

(D) F, sAffe=a enfor T

R ‘p’ ¥ T 91 3@d W p v ¢ A0
‘“p’ ¥ FAAHA ¢ A

(A) =R T

(B) =&l e

(C) p v ¢ |& 3 ‘~p’ THHA
D) ‘p v ¢ IEA 3T ‘~p’ THA

fe wftiTean faw= 3teeh ArSvl FIvwd
e ?

(A)

{p=qg)=1lp oq) * (@ >pl
A {[(p ® @) v (~p ® ~q)1}

B) [(p » q) = (g * p)] 3fo

(@ v q@) = (g v p)

[(~p * @) = (~p v ~@)] 3ful
[(~p v @) = (~p * ~q)]

[~p * @) = (~p v ~@)] 3ful
[~p v @) = (~p * ~q)]

(C)

(D)
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87.

88.

89.

Identify the fallacy committed in the
following argument :

“The pleasure of an individual is
good for him. Therefore the pleasure
of everybody is good for everybody.”

(A) Division

(B) Composition

(C) Fallacy of Accident

(D) Converse Fallacy of Accident

Select the correct symbolization of
the following proposition :

“Bees and wasps sting if they are
either angry or frightened. (Bx, Wx,
Sx, Ax, Fx)”

(A) (%) {[(Bx ® Vx) ® (Ax v Fx)] > Sx}
(B) (x) [(Bx v Vx) ¢ (Ax ® Fx)] o Sx
(C) (x){(Bx* Vx)> [(Ax ® F'x) o Sx]}
D) x) {(Bxv Wx)> [(Ax v Fx) o Sx]}

Given the argument, select the
correct option :

Argument :
(x) (Cx o Dx)
(x) (Ex o> ~Dx)
(x) (Ex o Cx)
(A)
(B)
(C)
D)

The argument is true
The argument is false
The argument is valid

The argument is invalid

87.

88.

89.

JUN - 12220/1I—A

Jeid gleRaRRia ahars

"SIl g fT=mEel =anTe o1, WA

(A) faursE qeac

(B) TR TharS

(C) THTE™

(D) w1 fawa <

e faurr e e o

[T A0 el S fasaen
AT forar SeReican A9 a¥ <91
. (Bx, Wx, Sx, Ax, Fx)

(A) (x){[(Bx ® Vx) ® (Ax v Fx)] o Sx}
(B) (x) [(Bx v Vx) ¢ (Ax ¢ Fx)] o Sx
(C) (x){(Bx* Vx)>[(Ax * Fx) 5 Sx]}
D) ®) {BxvWx)>[(Ax v Fx) 5> Sx]}

T gfaqaeeeEt ara v e
RIESEICEE
(x) (Cx o Dx)
(x) (Ex > ~Dx)
x) (Ex > Cx)
(A) e giemae 9@ o
(B) fecien Jferdare s o1
(C) feciem gfertarg gt o1
(D) feoien Jferqag e 318
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90.

91.

The Rule of Detachment is :
(A) Rule of Formation only

(B)
()

Rule of Transformation

Rule of Formation and Rule of

Transformation

(D)

Neither a Rule of Formation

nor a Rule of Transformation

Which of the following theories

represents Ethical holism ?
(A) Anthropocentric morality
(B) Land Ethics

(C) Deep Ecology

(D) Shallow Ecology

90.

91.

JUN - 12220/I1—A

o N

BRIEIEIUIEIREEEE]

(A) T ESUiETE frEm

(B) Huferdran frm

(C) wreuften o FufadAran M

(D) wevitar & fAam A enfur
Hafterdrn & M A

JEICTUeh! IV ST Hfieh HeheTae

gidiee d ?

(A) Herhgr it

(B) 9iER idl

(C) Ted waferor idt

(D) 3%Ues YA el

, , 92. AR YH HIAR! YhRA T
92. Indian Ethics do not support any B 39 )
ElIEE] AR Sh U1 TAT=A AATIER
kind of euthanasia on the grounds ¢ 3
that - (A) Sfte T0g 3118 o HIVITal FoL=
(A) Life is immaterial and one YhRIeE ol id THUIr SR
doesn’t have to bother about the e
type of death. (B) HIeRa=l hacllgl fa=R vl § 41g
(B) Any thought of death is sinful. e
(C) Life is a divine gift and one gets (C) Sfiert & <ol Qorft 31 5 HedrehTen
it as per the result of past dt SuTIed YeRAiIER W &
Karmas. 3.
(D) Any thought of death is (D) gIFEcTal H3aTe! foaR ol FRedw
meaningless. 3R,
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93.

94.

95.

96.

Consequences of technology on
human life are studied under :

(A) Metaphysics

(B) Epistemology

(C) Philosophy of technology
(D) Philosophy of art

The thesis that, “there is a

fundamental ontological distinction

between natural things and

artifacts” is closely related to ....... .
(A) Ethics

(B) Epistemology

(C) Philosophy of social science
(D) Philosophy of technology

Ethical codes prescribed to lawyers
ethics.

(A) Medical
(B) Social

(C) Professional
(D) Utilitarian

What is not included in the
definition of health given by WHO ?

(A) Physical well-being
(B) Mental well-being
(C) Social well-being

(D) Political well-being

93.

94.

95.

96.

JUN - 12220/1I—A

SERIBIERIREIRSIERIC IS LI R I eI
A BN :

(A) T
(B) A

(OEEREERRIE

(D) Fod TEIE

‘it aw) oo W ) AT
T goAd SaRTEg 9 o 7 fagid

(A) fqeme
(B) HHEET

(C) ISR YR I

(D) TRAMN dwoH

SfeheTdTa! HfTdeiedn Hideh ST=R Higden
.............................. S e —
(A) ST

(B) =TSR

(C) e

(D) SR

WHO=TT R AAqed Sl
e AE ?

(A) IRIRSE e
(B) AM{Teh e
(C) mHIfSIeh ey

(D) USRI e
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97.

98.

Branch of ethics which deals with
the ethical issues with biology and
medicine is called :

(A) Philosophy of biology
(B) Philosophy of medicine
(C) Bioethics

(D) Environmental ethics

Instrumental and consumerist

approach towards environment is
called ................ .

97.

98.

JUN - 12220/I1—A

SiTereTest 3T ARSI ANie o=
EE IR TR d'\IrCI?II{'ﬂIWI Ml cAl

(A) SRR dee=

(B) IR T
(C) et
(D) TSRO a9

T TeROMeRe HIEHAHE A0 ST
ErGiE i LR e I T

FEUTdTd-
(A) Shallow ecology (A) 39T RO
(B) Deep ecology (B) @iel TR
(C) Cosmocentric ecology (©) Favad= eI
(D) Green ecology D) Tha Tat
o S G dolbentn |15, s e sy 20
privaclzoy as ’ ’ : 2017=1 e
""""""""""" * ET F R .j%.UE. W aTl%‘.
(A) Freedom of expression .
P (A) Al @z
(B) Right to property
(B) Aol 3fHehR
(C) Right to employment .
(C) TISTau= 3TfEehR
(D) Right to life .
_ _ _ (D) Sfed SEvFr=En STfEeRR
100. ...oeeennnnee takes into consideration . ..
the intrinsic value of the | 100. TIEME SARE qH
environment. foramrd 1.
(A) Shallow ecology (A) U5 JHTTITITE
(B) Deep ecology (B) © eI
(C) Anthropocentric view (C) AMEsl ghesmm
(D) Utilitarian view (D) SUgEIal gfteh
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ROUGH WORK
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